K 8 Wérksheets

WS #2

Ratio

Fill the blanks.

In a basket of 36 vegetables, 14 are bell peppers, 16 are onions and the rest are beets.

The ratio of bell peppers to onions is

The ratio of onions to beets is

The ratio of beets to bell peppers is

The ratio of onions to the total vegetables in the basket is

The ratio of beets to the total vegetables in the basket is

The ratio of bell peppers to the total vegetables in the basket is

Mary has a total of 50 coins in her piggy bank. There are 15 dimes, 25 nickels
and the remaining are quarters.

The ratio of quarters to nickels is

The ratio of dimes to quarters is

The ratio of nickels to dimes is

The ratio of quarters to the total coins in the piggy bank is

The ratio of dimes to the total coins in the piggy bank is

The ratio of nickels to the total coins in the piggy bank is
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